
Integration practice #3 

Write the indefinite integrals 

1. ∫  𝑥ସ(𝑥ଶ − e). 𝑑𝑥 

 

2. ∫  ௫ ି ଶ ଷ ି ௫  .dx   

 

3. ∫ sin 
2

 3x .dx   

 

4. ∫ tan 3θ .dθ   

 

Calculate the value of k from the following equations: 

5. ∫  𝑥 − 𝑘 . 𝑑𝑥ସ଼   = 10 

 

6. ∫  𝑘(𝑥2 − 1). 𝑑𝑥ଷଶ   = 5 

 

7. ∫ 𝑘𝑥 − 1 . 𝑑𝑥௞ଶ   = 5 

 

8. ∫
𝜋 5ൗ0  cos (kx) .dx  = 0   



Answers: Integration practice #3 

Write the indefinite integrals 

1. ∫  𝑥ସ(𝑥ଶ − e). 𝑑𝑥   = ∫ 𝑥଺ + e 𝑥ସ . 𝑑𝑥  + c =  భ ళ  x7 + భ ఱ  e x5 + c 

 

2. ∫  ௫ ି ଶ ଷ ି ௫  .dx   = ∫ ೣ ష యయ ష ೣ  + భయషೣ .dx  =  −x + – ln |3 − x | + c  

   

3. ∫ sin 
2

 3x .dx   = ∫  భ మ  −  భ మ  cos 6x .dx  =  భ మ  x −  భ భమ  sin 6x + c 

 

4. ∫ tan 3θ .dθ  = ∫ ౩౟౤ యಐౙ౥౩ యಐ .dx    =  షభ య  ln | cos 3θ | + c   

Calculate the value of k from the following equations: 

5. ∫  𝑥 − 𝑘 . 𝑑𝑥ସ଼   = 10  [  భ  మ  x2 − k x ] 84  = 10   

  ( భ మ  64 − 8k ) − ( భ మ  16 − 4k ) = 10  k = 3.5 

6. ∫  𝑘(𝑥2 − 1). 𝑑𝑥ଷଶ   = 5  [  ೖ య  x3 − k x ] 32  = 5   

  ( ೖ య  27 − k ×3) − ( ೖ య  8 − k ×2) = 5  k = 0.9375 

7. ∫ 𝑘𝑥 − 1 . 𝑑𝑥௞ଶ   = 5  [  ೖ మ  x2 − x ] 𝑘2  = 5  ( ೖ మ  k2 − k) − ( ೖ మ  22 − 2) = 5 

  ½ k3 − 3k − 3 = 0  k = 2.8473 

8. ∫
𝜋 5ൗ0  cos (kx) .dx  = 0   [ భ ೖ  sin kx ]

𝜋 5ൗ 0    =  0  భ ೖ  sin ೖ ഏ  ఱ    −  భ ೖ  sin 0 = 0   

  భ ೖ  sin ೖ ഏ  ఱ    = 0    ೖ ഏ  ఱ    = nπ   k = 5n  (where n ∈ ℤ)  


